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Question Id : 68634041625 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634041626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340164401. 1

686340164402. 2

686340164403. 3
686340164404. 4

Question Number : 2 Question Id : 68634041627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340164405. 1
686340164406. 2
686340164407. 3
686340164408. 4



Question Number : 3 Question Id : 68634041628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
6863401644009. 1
686340164410. 2

686340164411. 3
686340164412. 4

Question Number : 4 Question Id : 68634041629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The of the soundtrack to the action m the film revolutionized the process of film making.
1. stitching
2. synchronization
3. adhermng
4. business
Options :
686340164413. 1
686340164414. 2

686340164415. 3
686340164416. 4

Question Number : 5 Question Id : 68634041630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtracl.

Options :



686340164417. 1
686340164418. 2
686340164419. 3
686340164420. 4

Question Id : 68634041625 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology, the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634041626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies
1. dumb
2. mute
3. mufiled
4, silent

Options :

686340164401. 1
686340164402. 2
686340164403. 3
686340164404. 4

Question Number : 2 Question Id : 68634041627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340164405. 1
686340164406. 2
686340164407. 3
686340164408. 4

Question Number : 3 Question Id : 68634041628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

| B

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340164409. 1
686340164410. 2
686340164411. 3
686340164412. 4

Question Number : 4 Question Id : 68634041629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340164413. 1
686340164414. 2
686340164415. 3



686340164416. 4

Question Number : 5 Question Id : 68634041630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and tallkies were destined to become obsolete
4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340164417. 1
686340164418. 2
686340164419. 3
686340164420. 4

Sub-Section Number : 2
Sub-Section Id : 6863401368
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634041631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningtul sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood in Dartmoor National Park

1.LAB.C.D

[ ]

DCB.A
3.B.D.A.C
4.C,A,D,B

Options :

686340164421. 1
686340164422. 2
686340164423. 3
686340164424. 4



Question Number : 6 Question Id : 68634041631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. in the southwest of England

D. in Wistman's Wood in Dartmoor National Park

LABC.D

| )

.D,C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340164421. 1
686340164422, 2
686340164423. 3
686340164424, 4

Question Number : 7 Question Id : 68634041632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

fa—y

. Epigraphy

[ )

. Calligraphy

Lad

. Cartography

=

. Topography

Options :

686340164425. 1
686340164426. 2
686340164427. 3
686340164428. 4

Question Number : 7 Question Id : 68634041632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy

LIPS ]

. Cartography

=

. Topography

Options :

686340164425. 1
686340164426. 2
686340164427. 3
686340164428. 4

Question Number : 8 Question Id : 68634041633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

LIPS ]

. disruptive
4. obsequious

Options :

686340164429. 1
686340164430. 2
686340164431. 3
686340164432. 4

Question Number : 8 Question Id : 68634041633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious
Options :

686340164429. 1
686340164430. 2



686340164431. 3
686340164432. 4

Question Number : 9 Question Id : 68634041634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct pair of prepositions to fill in the blanks of the following sentence:

She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during, beside
4. with. on

Options :

686340164433. 1

686340164434. 2

686340164435. 3
686340164436. 4

Question Number : 9 Question Id : 68634041634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside. during
2. besides. beside
3. during. beside
4. with. on
Options :
686340164433. 1
686340164434. 2

686340164435. 3
686340164436. 4

Question Number : 10 Question Id : 68634041635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Word Tvpe of pronoun
A lwhat I jreflexive
B. lmyself II. kelative
C. |his II1. jindefinite
D_ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-L. C-IV, D-III

[ ]

AT BT C-II, DIV

L]

AT B-L C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340164437. 1
686340164438. 2
686340164439. 3
686340164440. 4

Question Number : 10 Question Id : 68634041635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Word Type of pronoun
A lwhat I jreflexive
B. jmyself II. kelative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

AT BT C-II, DIV
3. A-IIT, B-I, C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340164437. 1
686340164438. 2
686340164439. 3
686340164440. 4



Question Number : 11 Question Id : 68634041636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

(B

.16

4,22

Options :

686340164441. 1
686340164442. 2
686340164443. 3
686340164444. 4

Question Number : 11 Question Id : 68634041636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16

4, 22

Options :

686340164441. 1
686340164442. 2
686340164443. 3
686340164444. 4

Question Number : 12 Question Id : 68634041637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify

09-[23-32-(73-54-3.7)]

[ )
=

4,-2.6

Options :

686340164445. 1
686340164446. 2
686340164447. 3
686340164448. 4

Question Number : 12 Question Id : 68634041637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

1.0.18

| )
=

4.-2.6

Options :

686340164445. 1
686340164446. 2
686340164447. 3
686340164448. 4

Question Number : 13 Question Id : 68634041638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

L P58 BFEE
2. 10:9
3. 114:113

4, 196:187

Options :

686340164449. 1
686340164450. 2
686340164451. 3
686340164452. 4

Question Number : 13 Question Id : 68634041638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square 1s same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11
2. 10:9
3. 114:113

4. 196:187

Options :

686340164449. 1
686340164450. 2
686340164451. 3
686340164452. 4

Question Number : 14 Question Id : 68634041639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year,
payable half yearly and the simple interest for 1 year is ¥ 56. The sum 1s:

1.2 5,780

[ ]
AH
=
e}
=
F



Options :

686340164453. 1
686340164454. 2
686340164455. 3
686340164456. 4

Question Number : 14 Question Id : 68634041639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.3 5,780
2.3 7.805
3.2 7.850
4,3 8,750
Options :
686340164453. 1
686340164454. 2

686340164455. 3
686340164456. 4

Question Number : 15 Question Id : 68634041640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys 1s 22 years. Eight times the age of the youngest of them 1s 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he 1s 8 years older to the youngest of them.

1. 24 years
2. 25 years
3. 26 years
4. 28 years
Options :
686340164457. 1
686340164458. 2

686340164459. 3
686340164460. 4

Question Number : 15 Question Id : 68634041640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 vears

| )

. 25 years
3. 26 years
4. 28 years
Options :
686340164457. 1
686340164458. 2

686340164459. 3
686340164460. 4

Question Number : 16 Question Id : 68634041641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing,

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340164461. 1
686340164462. 2
686340164463. 3
686340164464. 4

Question Number : 16 Question Id : 68634041641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or IT follows

Options :

686340164461. 1
686340164462. 2
686340164463. 3
686340164464. 4

Question Number : 17 Question Id : 68634041642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340164465. 1
686340164466. 2
686340164467. 3
686340164468. 4

Question Number : 17 Question Id : 68634041642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340164465. 1
686340164466. 2
686340164467. 3
686340164468. 4

Question Number : 18 Question Id : 68634041643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain coding system. 1f2=15,4=18. 6 =39 then 10 =7

1. 105

| B
Yok
=
i

4.54

Options :



6863401644609. 1
686340164470. 2
686340164471. 3
686340164472. 4

Question Number : 18 Question Id : 68634041643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

. 104
3.89
4.54

Options :

686340164469. 1
686340164470. 2
686340164471. 3
686340164472. 4

Question Number : 19 Question Id : 68634041644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the mirror image of the given combination
"ANS4WMG3"
LEOMWEREZHMA
ZEDWMPSNY
33GWMt2 MV
41 ECWMYPIUY
Options :
686340164473. 1
686340164474. 2

686340164475. 3
686340164476. 4

Question Number : 19 Question Id : 68634041644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340164473. 1
686340164474. 2
686340164475. 3
686340164476. 4

Question Number : 20 Question Id : 68634041645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In you were born on 6th
birthday fall in 19847

November. 1983. which was a Sunday. then on which day of the week does your

1. Monday

2. Wednesday
3. Tuesday

4, Friday

Options :

686340164477. 1
686340164478. 2
686340164479. 3
686340164480. 4

Question Number : 20 Question Id : 68634041645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6" November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

b2

. Wednesday

L

. Tuesday

=

. Friday

Options :

686340164477. 1
686340164478. 2
686340164479. 3
686340164480. 4

Question Number : 21 Question Id : 68634041646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite
4. INSAT
Options :
686340164481. 1
686340164482. 2

686340164483. 3
686340164484. 4

Question Number : 21 Question Id : 68634041646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ B

. Stationary Satellite

3. Geostationary Satellite

f-%

INSAT



Options :

686340164481. 1
686340164482 2
686340164483. 3
686340164484. 4

Question Number : 22 Question Id : 68634041647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D. [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III

L]

AT B-IV. C-1, D-II
4. AT B-1, C-IV, DI

Options :

686340164485. 1
686340164486. 2
686340164487. 3
686340164488. 4

Question Number : 22 Question Id : 68634041647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III
3. AIIL, B-IV, C-1, D-II
4. A1 B-1, C-IV, DI

Options :

686340164485. 1
686340164486. 2
686340164487. 3
686340164488. 4

Question Number : 23 Question Id : 68634041648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

[F%]

. Interpellation
4. Yielding the floor

Options :

686340164489. 1
686340164490. 2
686340164491. 3
686340164492. 4

Question Number : 23 Question Id : 68634041648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

Lad

. Interpellation
4. Yielding the floor

Options :

686340164489. 1
686340164490. 2
686340164491. 3
686340164492. 4

Question Number : 24 Question Id : 68634041649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. A-II B-TV, C-1, D-1II

Options :

686340164493. 1
686340164494. 2
686340164495. 3
686340164496. 4

Question Number : 24 Question Id : 68634041649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DT

Options :

686340164493. 1
686340164494. 2
686340164495. 3
686340164496. 4

Question Number : 25 Question Id : 68634041650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as

1. Seismic zone
2. Focus
3. Photosphere
4, Epicentre

Options :

686340164497. 1

686340164498. 2

686340164499. 3
686340164500. 4

Question Number : 25 Question Id : 68634041650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave is known as

1. Seismic zone

2

. Focus

LFS]

. Photosphere
4, Epicentre

Options :

686340164497. 1
686340164498. 2
686340164499. 3
686340164500. 4

Part B: Indian Knowledge System Bilingual Hindi and English

Section Id : 686340820
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401369
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634041651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who is the author of Saundarananda Mahakavya?

1. Kalidas

[ ]

. Ashvaghosha

LF¥]

. Bhavabhuti
4. Panimi

Options :

686340164501. 1
686340164502. 2
686340164503. 3
686340164504. 4



Question Number : 26 Question Id : 68634041651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hrex"<agidred &: yoflaar?
1. Pl Ql‘la :
ST

 HaYfeT:
4. grfoTfa:

Options :

686340164501. 1
686340164502. 2
686340164503. 3
686340164504. 4

[

L]

Question Number : 27 Question Id : 68634041652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one 1s a [MsqclgR?

1. Visheshokti
2. Virodha

3. Anumana
4. Yamaka

Options :

686340164505. 1
686340164506. 2
686340164507. 3
686340164508. 4

Question Number : 27 Question Id : 68634041652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TY &: TRAER:?
1. fammifaa:
2. faRre:

3' i £
4, O

Options :

686340164505. 1
686340164506. 2
686340164507. 3
686340164508. 4

Question Number : 28 Question Id : 68634041653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who is the founder of G4:2[[EA?

1. Panini

[ )

. Pingala
3. Yaska
4. Lagadha

Options :

686340164509. 1
686340164510. 2
686340164511. 3
686340164512. 4

Question Number : 28 Question Id : 68634041653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B YR Yad B $:2
1. grforf:

3. JRp:

| )

4. -

Options :
686340164509. 1



686340164510. 2
686340164511. 3
686340164512. 4

Question Number : 29 Question Id : 68634041654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who is the author of Rajatarangini?

1. Vilhana

[ )

. Jalhana
3. Kalhana
4. Kaiyata

Options :

686340164513. 1
686340164514. 2
686340164515. 3
686340164516. 4

Question Number : 29 Question Id : 68634041654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

elcRiguff &: yolidar
1. faegur:
2. Seg Uk
3. Peg UL
4, BT

Options :

686340164513. 1
686340164514. 2
686340164515. 3
686340164516. 4

Question Number : 30 Question Id : 68634041655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which parva of Mahabharat ARMEUEOREM is found?

1. Shantiparva

2. Adiparva

3. Sabhaparva

4. Viratparva
Options :
686340164517. 1
686340164518. 2

686340164519. 3
686340164520. 4

Question Number : 30 Question Id : 68634041655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ARAVIIREA HeIHRa® Hie garl aftfas?

1. Srf=Tgdion

 qYTIaor
4. faRreadfor

Options :

686340164517. 1

686340164518. 2

686340164519. 3
686340164520. 4

| )

[#5]

Question Number : 31 Question Id : 68634041656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who 1s the author of Saundaryalahari?

1. Goudapada

2. Shankaracharya

L]

. Yamunacharya
4. JTagannath

Options :
686340164521. 1



686340164522. 2
686340164523. 3
686340164524. 4

Question Number : 31 Question Id : 68634041656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Yl-geresl o Hofian
i -

4. SITHTYA

[

L]

Options :

686340164521. 1
686340164522, 2
686340164523. 3
686340164524. 4

Question Number : 32 Question Id : 68634041657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
How many §¥d%T are in Grammar?

1. Three
2. Five
3. Six
4. Seven

Options :

686340164525. 1

686340164526. 2

686340164527. 3
686340164528. 4

Question Number : 32 Question Id : 68634041657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



STH 0] gEaeal: i =2

1. A
2. 93]
3. 8¢
4. T

Options :

686340164525. 1

686340164526. 2

686340164527. 3
686340164528. 4

Question Number : 33 Question Id : 68634041658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which sutra is known as Td H:uf&arum?

1. JHER: WRd:
2. qOER g
3. foafdy
4. IEBEI:

Options :

686340164529. 1

686340164530. 2

686340164531. 3
686340164532. 4

Question Number : 33 Question Id : 68634041658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS 9
1. GHTER: Wk
2. gHER |
3. facafay
4, I=BEI

Options :



686340164529. 1
686340164530. 2
686340164531. 3
686340164532. 4

Question Number : 34 Question Id : 68634041659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who 1s the listener of Srimadbhagavat?

1. Shuka

[ )

.Aja

%]

. Ajamila
4. Tanamejaya

Options :

686340164533. 1
686340164534. 2
686340164535. 3
686340164536. 4

Question Number : 34 Question Id : 68634041659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FOgURTITR 4Idl &:2
1. ¥[FP:
2. 3
3. ST
4. SfTHT:

Options :

686340164533. 1
686340164534. 2
686340164535. 3
686340164536. 4

Question Number : 35 Question Id : 68634041660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who is the first author of puranas?

1. Narayana

| B

. Narada
3. Krishna Dwaipayana
4. Parashara

Options :

686340164537. 1
686340164538. 2
686340164539. 3
686340164540. 4

Question Number : 35 Question Id : 68634041660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIOTA SIfG@Hdl &:

1. AIRT4U[:

| )

ARG

 PUGU:

4. URIRR:

[#5]

Options :

686340164537. 1
686340164538. 2
686340164539. 3
686340164540. 4

Question Number : 36 Question Id : 68634041661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In which puran Durgasaptashati 1s found?
1. Brahmapuran
2. Devibhagavat
3. Kurmapuran

4. Markandeyapuran

Options :
686340164541. 1



686340164542. 2
686340164543. 3
686340164544. 4

Question Number : 36 Question Id : 68634041661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gIRICRIC I YRI0T acia?

1. SEIQRI0]
. &diyrTad

QR
4. TTHUSTYRIO

Options :

686340164541. 1
686340164542. 2
686340164543. 3
686340164544. 4

[

L]

Question Number : 37 Question Id : 68634041662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many types of eI’ are in srimadbhagavat?

1. Three

2

. Two
3. Four
4. Five

Options :

686340164545.
686340164546.
686340164547.
686340164548.

AW N —

Question Number : 37 Question Id : 68634041662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FioquIaTd Sidfay: yag:2

1. Afqe:
2. fafae:
3. Aqde:
4. gFiae:

Options :

686340164545 1

686340164546. 2

686340164547. 3
686340164548. 4

Question Number : 38 Question Id : 68634041663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

This 1s not counted as the definition of puranas -

1. Sarga

| )

. Pratisarga
3. Vansa
4. Vyakhyana
Options :
686340164549. 1
686340164550. 2

686340164551. 3
686340164552. 4

Question Number : 38 Question Id : 68634041663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QRTOTT TEFOTY = TR -
1. 9
2. wfcrg:
3. 991
4. i1y

Options :



686340164549. 1
686340164550. 2
686340164551. 3
686340164552. 4

Question Number : 39 Question Id : 68634041664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which puran the description of Hiranyakashyap 1s found?

1. Skandapuran

[ B

. Vishnupuran
3. Agnipuran
4. Padmapuran

Options :

686340164553. 1
686340164554. 2
686340164555. 3
686340164556. 4

Question Number : 39 Question Id : 68634041664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RIS TOIT HYT SR IR0 aaal?
1. TG gl
4. UsTq< 0
Options :
686340164553. 1
686340164554. 2

686340164555. 3
686340164556. 4

| )

[#%]

Question Number : 40 Question Id : 68634041665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What does the sentence HT0N % T advises?

1. Water conservation
2. Air conservation
3. Plant conservation
4, Earth conservation
Options :
686340164557 1
686340164558. 2

686340164559. 3
686340164560. 4

Question Number : 40 Question Id : 68634041665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W01 d g<alar Sid ared fgareRrar

1. STCTHEUH

2. TIgEREUH

3. aTEfaEREUH
4. giUgrEREm
Options :
686340164557 1
686340164558. 2

686340164559. 3
686340164560. 4

Question Number : 41 Question Id : 68634041666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gaal aid ]1%' STHAY [ATETEa This part of Mantra reflects -
1. Remedy of air conservation
2. Remedy of Earth conservation
3. Remedy of water conservation
4. Remedy of plant conservation

Options :
686340164561. 1



686340164562. 2
686340164563. 3
686340164564. 4

Question Number : 41 Question Id : 68634041666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"YEE] dTd d 76 Sy Ffdfea: s we: i smoafae

1. AR &
2. JIGTERAT=IgEH
3. STCTER &R
4. TTOIAER O

Options :

686340164561. 1

686340164562. 2

686340164563. 3
686340164564. 4

Question Number : 42 Question Id : 68634041667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
This 1s used as the synonym of plough in veda -

1. Ashtra
2. Khanitrima
3. Langala
4. Swayamja

Options :

686340164565. 1

686340164566. 2

686340164567. 3
686340164568. 4

Question Number : 42 Question Id : 68634041667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4. TG
Options :
686340164565. 1
686340164566. 2

686340164567. 3
686340164568. 4

Question Number : 43 Question Id : 68634041668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Wmﬁ qf@aﬂff' this sentence related to -
1. Air
2. Earth
3. Rain

4. Food
Options :
686340164569. 1
686340164570. 2

686340164571. 3
686340164572. 4

Question Number : 43 Question Id : 68634041668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Y g a0 S a1 & I e
1. G
2.1

3. gl
4. 39

Options :




686340164569. 1
686340164570. 2
686340164571. 3
686340164572. 4

Question Number : 44 Question Id : 68634041669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many karanas are there m Jyotisha?

1.07

(B

.04
31
4. 12

Options :

686340164573. 1
686340164574. 2
686340164575. 3
686340164576. 4

Question Number : 44 Question Id : 68634041669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST S0 &1 T3

1.07

| B

.04
3.11
4.12

Options :

686340164573. 1
686340164574. 2
686340164575. 3
686340164576. 4

Question Number : 45 Question Id : 68634041670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who has explained the scientific cause of Solar and Lunar eclipse?

1. Aaryabhatta

| B

. Varahamihira

LF¥]

. Bhaskaracharya
4. Bharadwaja

Options :

686340164577. 1
686340164578. 2
686340164579. 3
686340164580. 4

Question Number : 45 Question Id : 68634041670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YU UgURE: a1 SRUI b TRATI?

1. SRMES
e
 YEpRET0

4. YRgISH

Options :

686340164577. 1
686340164578. 2
686340164579. 3
686340164580. 4

| ]

L

Question Number : 46 Question Id : 68634041671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Sushruta is related to -

1. Grammar

[ )

. Chhandashastra
3. Agriculture
4. Ayurveda

Options :
686340164581. 1



686340164582. 2
686340164583. 3
686340164584. 4

Question Number : 46 Question Id : 68634041671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JYc: B JEG:?
1. TSRO
2. TS URAT
3. PINLIRATT
4. 3TgdaA
Options :
686340164581. 1
686340164582. 2

686340164583. 3
686340164584. 4

Question Number : 47 Question Id : 68634041672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who 1s founder of Aeronautical wisdom in indian tradition?

1. Bharadwaja
2. Parashara
3. Bodhayana
4. Gargya

Options :

686340164585. 1

686340164586. 2

686340164587. 3
686340164588. 4

Question Number : 47 Question Id : 68634041672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRIORERE [OAeas 3mE: o022

1. ﬂ-| Q§|i}|:
2 E| QFQEQ:
3, SIYT:
4, G

Options :

686340164585. 1

686340164586. 2

686340164587. 3
686340164588. 4

Question Number : 48 Question Id : 68634041673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many duhkhas are there according to Sankhya Darshan?

1. Five

b2

. Four
3. Three
4, Six

Options :

686340164589. 1
686340164590. 2
686340164591. 3
686340164592. 4

Question Number : 48 Question Id : 68634041673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRHERHAIR Bid gar1?
1.0

Tl
3. Hifor
e

| )

Options :
686340164589. 1



686340164590. 2
686340164591. 3
686340164592. 4

Question Number : 49 Question Id : 68634041674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many organs are there according to Sankhya Darshan?

1. Twelve

b2

. Ten
3. Eleven

4. Fifteen

Options :

686340164593. 1
686340164594. 2
686340164595. 3
686340164596. 4

Question Number : 49 Question Id : 68634041674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FRSIH =T Hid?
1. GIGRT
2.qX0
3. Pl
4. U
Options :
686340164593. 1
686340164594. 2

686340164595. 3
686340164596. 4

Question Number : 50 Question Id : 68634041675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



By which language ‘Iﬁfﬂﬁﬁ' 1s authored?
1. Hindi
2. Pali
3. Sanskrit
4. Magadli

Options :

686340164597. 1
686340164598. 2
686340164599. 3
686340164600. 4

Question Number : 50 Question Id : 68634041675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YAfUed Sar vy Ias?
1. Te=dl -

2. gifd-yrean

3. TP - HIT
4, AT - Yo

Options :

686340164597. 1
686340164598. 2
686340164599. 3
686340164600. 4

Question Number : 51 Question Id : 68634041676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many padas are there in Yoga Darshan?

1. Two

b2

. Three
3. Four
4. Five

Options :
686340164601. 1



686340164602. 2
686340164603. 3
686340164604. 4

Question Number : 51 Question Id : 68634041676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ARTERM S gre: Ji=o
Lgl

99

[

3. ddi¥:
4.9d

Options :

686340164601. 1
686340164602. 2
686340164603. 3
686340164604. 4

Question Number : 52 Question Id : 68634041677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 15 the author of 'W“?

1. Shri Jagadishatarkalankara
2. Annambhatta

3. Gadadhara Bhattacharya
4. Bhasarvajna

Options :

686340164605. 1
686340164606. 2
686340164607. 3
686340164608. 4

Question Number : 52 Question Id : 68634041677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%

TTETERHE TR
4, WTHARA

Options :

686340164605. 1
686340164606. 2
686340164607. 3
686340164608. 4

L

Question Number : 53 Question Id : 68634041678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s the supporter of SHifgdragang among the mimansakas?
1. Kumarilabhatta
2. Prabhakar mishra
3. Appayya Dikhit
4. Bhavanath

Options :

686340164609. 1
686340164610. 2
686340164611. 3
686340164612. 4

Question Number : 53 Question Id : 68634041678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sfifearauare uemTd Hiae: 2
1. PHRAYE:
2. JUTHRITY:
3. OCIE:
4. YaY:

Options :



6863401646009. 1
686340164610. 2
686340164611. 3
686340164612. 4

Question Number : 54 Question Id : 68634041679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the founder of "HGIHGdIE' in Vedanta?
1. Shankara
2. Ramanuja
3. Kumarila
4. Nimbarka

Options :

686340164613. 1
686340164614. 2
686340164615. 3
686340164616. 4

Question Number : 54 Question Id : 68634041679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dgd HaTHearg: o wafdd:?
]_. EE[ %. E I
4. Ty
Options :
686340164613. 1
686340164614. 2

686340164615. 3
686340164616. 4

| )

L

Question Number : 55 Question Id : 68634041680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the definition of Purusha according to Charvaka?

1. Chaitanyavishistakaya

| B

. Shuddhachaitanya

LF¥]

. Mayaranjita Brahma
4. Na prakriti Na vikriti

Options :

686340164617. 1
686340164618. 2
686340164619. 3
686340164620. 4

Question Number : 55 Question Id : 68634041680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIGIEZ AR T R G
1. %IEPJ 3 Q §$ :

Y AdTH
HAREEs"

A A gl

Options :

686340164617. 1
686340164618. 2
686340164619. 3
686340164620. 4

| ]

[FS]

S

Question Number : 56 Question Id : 68634041681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is the actual name of Shabaraswami?

1. Adityadeva

[ )

. Kundaswami

L]

. Aditya Narayan
4. Suryadeva

Options :
686340164621. 1



686340164622. 2
686340164623. 3
686340164624. 4

Question Number : 56 Question Id : 68634041681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R aRdiae - fr?
1. 3TEHea:
2. P-aarH!
3. TR
4, gUda:
Options :
686340164621. 1
686340164622. 2

686340164623. 3
686340164624. 4

Question Number : 57 Question Id : 68634041682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Veda starts from -
1. Sanhita
2. Padapatha
3. Jatapatha

4. Ghanapatha

Options :

686340164625. 1
686340164626. 2
686340164627. 3
686340164628. 4

Question Number : 57 Question Id : 68634041682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



derRY: fadiad -
1. dfgdrd:
2. UgUlad:
3. vicIUlad:
4. YUlod:
Options :
686340164625. 1
686340164626. 2

686340164627. 3
686340164628. 4

Question Number : 58 Question Id : 68634041683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TERUTRATHGET is related to -

1. Yajurveda

|

. Rigveda
3. Samaveda

4. Atharvaveda

Options :

686340164629. 1
686340164630. 2
686340164631. 3
686340164632. 4

Question Number : 58 Question Id : 68634041683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feruaTigdd $ e SEgH?
1. Tqdad
B
RIBCEE
4. 3fUdde

Options :

[ ]

L



686340164629. 1
686340164630. 2
686340164631. 3
686340164632. 4

Question Number : 59 Question Id : 68634041684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"HGIYST is found in-
1. Rigveda
2. Samaveda
3. Atharvaveda
4. Yajurveda

Options :

686340164633. 1
686340164634. 2
686340164635. 3
686340164636. 4

Question Number : 59 Question Id : 68634041684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YSTHad DI g fagde
1. 357G
2. grdq
3. 3{Yadg

4. 9944

Options :

686340164633. 1
686340164634. 2
686340164635. 3
686340164636. 4

Question Number : 60 Question Id : 68634041685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Where is '39! (e QMYAIST RV found?

1. Brihadaranyakopanishad
2. Ishopanishad
3. Taittirtyopanishad
4. Kathopanished

Options :

686340164637. 1

686340164638. 2

686340164639. 3
686340164640. 4

Question Number : 60 Question Id : 68634041685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

375l FIe: AYdIST QRIvE Salgygfd: S

1 P
2. guIgffg
i3 F
4. porafEg

Options :

686340164637. 1

686340164638. 2

686340164639. 3
686340164640. 4

Question Number : 61 Question Id : 68634041686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many letters are in Anustup Metre?

1.32

b2

28
3.40
4. 44

Options :
686340164641. 1



686340164642. 2
686340164643. 3
686340164644. 4

Question Number : 61 Question Id : 68634041686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3CY B4y Bid qur: I

1.32

| )

.28
3.40
4. 44

Options :

686340164641. 1
686340164642. 2
686340164643. 3
686340164644. 4

Question Number : 62 Question Id : 68634041687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The meaning of word &2 in ' 'ig -
— a Y

1. Payasyaa
2. Darva
3. Shurpa

4. Amaa

Options :

686340164645. 1
686340164646. 2
686340164647. 3
686340164648. 4

Question Number : 62 Question Id : 68634041687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Zeiuuimrags SRl Treawris i -

1. 9497
&
g

4. 3HI

| )

L#N]

Options :

686340164645. 1
686340164646. 2
686340164647. 3
686340164648. 4

Question Number : 63 Question Id : 68634041688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many mantras are in 'm' ?

1. Six
2. Seven
3. Eight
4. Ten

Options :

686340164649. 1
686340164650. 2
686340164651. 3
686340164652. 4

Question Number : 63 Question Id : 68634041688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rraag ey id o= gi=
1.8
2. 9
3. 3¥
4. 4%

Options :
686340164649. 1



686340164650. 2
686340164651. 3
686340164652. 4

Question Number : 64 Question Id : 68634041689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IRITDHRUNGET is found in -
1. Yajurveda
2. Samaveda
3. Atharvaveda
4. Rigveda

Options :

686340164653. 1
686340164654 2
686340164655. 3
686340164656. 4

Question Number : 64 Question Id : 68634041689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. 9944
2. grHde
3. 3fydaq
4. BTG

Options :

686340164653. 1
686340164654. 2
686340164655. 3
686340164656. 4

Question Number : 65 Question Id : 68634041690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The number of Kiskindhakanda in Ramayan is -

1. Fourth

| B

. Third
3. Fifth

4, Second

Options :

686340164657. 1
686340164658. 2
686340164659. 3
686340164660. 4

Question Number : 65 Question Id : 68634041690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AHEURY [ EpAIDHIUE HaH HIUSH?
1. 9gdn
2. TR
3. UFHH
4, fediog

Options :

686340164657. 1
686340164658. 2
686340164659. 3
686340164660. 4

Question Number : 66 Question Id : 68634041691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.

Assertion A : The collection of Mantras is called Sambita.
Reason R : The Sambita is known as TR: TH@HY:
In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

[

. Both A and R are true but R 1s not the correct explanation of A
3. A is true but R 1s false
4. A 1s false but R 1s true

Options :

686340164661. 1

686340164662. 2

686340164663. 3
686340164664. 4

Question Number : 66 Question Id : 68634041691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 DYTGUHIGT, THHIHBYTH A &S 30X T HRUMH R & -
DY A - HAIV SHESEd Hald|
BRUM R : U ArHHY: Higal yafd |
Suad BRI 378 gy fa ey Tgfay 3o -
1. AUGH R 344 IR, Ud R. A S0 U] ARl Difd

2. AUGH R IYT A, o] R. A SO 9] oARedi -1 Brifd
3. A FUIKT o] R ST
4. A g oo R gOwiEd

Options :

686340164661. 1
686340164662. 2
686340164663. 3
686340164664. 4

Question Number : 67 Question Id : 68634041692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : Ayurveda is the upaveda of Rigveda.
Reason R : Sthapatyaveda is the upaveda of Atharvaveda.
In the light of the above statements. choose the correct answer from the options given below :
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. A is true but R 1s not false
4. A 1s false but R is true
Options :
686340164665. 1
686340164666. 2

686340164667. 3
686340164668. 4

Question Number : 67 Question Id : 68634041692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3HY: HYTEIHET. THHIHDHYT A KT 30 T8 HRUM R K] -
HHPYTH A : FTAGE FUdS: HYdalsiE
BRUM R : RITTAS: HUddaiuaglsi&|
STeasYTeaHIYd 34l guy APy JgRIdH It -
1. AUGH R 3UD I, Td R, A S0 997 SURA] BRI

2. AUGH R IYT A, o] R. A SO 9] oARedi -1 Brifd

3. A FIET & R YA
4. A g oo R gOwiEd

Options :

686340164665. 1
686340164666. 2
686340164667. 3
686340164668. 4

Question Number : 68 Question Id : 68634041693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : Brahma 1s "Ho3d¥&Y' according to Advaita philosophy.

Reason R : The Shriti "G JTHA Sel' is the proof here.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R 1s not false
4. A 1s false but R 1s true

Options :

686340164669. 1

686340164670. 2

686340164671. 3
686340164672. 4

Question Number : 68 Question Id : 68634041693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3HY: HYTEIHET. THHIHDHYT A KT 30 T8 HRUM R K] -
SHHYTH A : Sfedrd 38 TUGETH K|
DRUH R : Tl T s7ed Sil 4fc: T |
STeasYTeaHIYd 34l guy APy JgRIdH It -
1. AUGH R 344 IR, Ud R. A S0 U] ARl Difd

2. AUGH R IYT A, o] R. A SO 9] oARedi -1 Brifd
3. A FUIKT o] R ST
4. A g oo R gOwiEd

Options :

686340164669. 1
686340164670. 2
686340164671. 3
686340164672. 4

Question Number : 69 Question Id : 68634041694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other 1s labelled as Reason R.
Assertion A : JPYAIG is accepted in Jaina Philosophy.

Reason R : '&OMBIGI is the '3TAT in Bauddha philosophy.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R 1s not false
4. A 1s false but R 1s true

Options :

686340164673. 1

686340164674. 2

686340164675. 3
686340164676. 4

Question Number : 69 Question Id : 68634041694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3HY: HYTEIHET. THHIHDHYT A KT 30 T8 HRUM R K] -
HIIHYT A : GG S Raew Wipid: [ded|
BRUM R : SlGER- AfOTBIaRTTH 3 Hafd |
1. AUGH R 344 IR, Ud R. A S0 U] ARl Difd

2. AUGH R IYT A, o] R. A SO 9] oARedi -1 Brifd
3. A FUIKT o] R ST
4. A g oo R gOwiEd

Options :

686340164673. 1
686340164674. 2
686340164675. 3
686340164676. 4

Question Number : 70 Question Id : 68634041695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : a:]_Eﬂ:[ Al is the example of TG,

Reason R : Vaisheshika philosophy accepts nine o,

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 18 NOT the correct explanation of A
3. A is true but R 1s not false

4, A is false but R is true

Options :

686340164677. 1
686340164678. 2
686340164679. 3
686340164680. 4

Question Number : 70 Question Id : 68634041695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3¢ DYAGUHE, THHHHYTH A 3T 30 I HRUMH R K -
HfHHYUTH A - dEH sfasf= gfa Famfad Tamesvt vafd|

BRUM R : IS Fageanion yaf=i|

STeaSYTgaHIYd 34l guy APy JRITH It -

Y

1. AUGH R 340 A, Ud R, A 08 97 IReA] H|

2. AUGH R IYT AR, <] R. A SO 9] ARedi - Brifd

3. A TOHE & R AU
4. A AT oo R IOHlT

Options :

686340164677. 1
686340164678. 2
686340164679. 3
686340164680. 4

Question Number : 71 Question Id : 68634041696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : The mountain protects the environment.

Reason R : There 15 no any discussion regarding agriculture science in veda.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

2

. Both A and R are true but R 1s NOT the correct explanation of A
3. A is true but R is not false

4, A is false but R is true

Options :

686340164681. 1
686340164682. 2
686340164683. 3
686340164684. 4

Question Number : 71 Question Id : 68634041696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3¢ DYAGUHE, THHHHYTH A 3T 30 I HRUMH R K -
SfIEYTH A : Gaq: TGTaRURY HR&U M|

BRUM R : d3 PG 9= 1 1|

STeSYTeaHIYd 34l guy APy JRITH It -

Y

1. AUGH R 340 A, Ud R, A 08 97 IReA] H|

2. AUGH R IYT AR, =] R, A SO ] ARedi A Brifd

3. A TOHE & R AU
4. A T oo R IauiEd

Options :

686340164681. 1
686340164682. 2
686340164683. 3
686340164684. 4

Question Number : 72 Question Id : 68634041697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : The ten definitions of puran are found in Shrimadbhagavata.

Reason R : Shimadbhagavadgita is in Mahabharata.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

2

. Both A and R are true but R 1s NOT the correct explanation of A
3. A is true but R is not false

4, A is false but R is true

Options :

686340164685. 1
686340164686. 2
686340164687. 3
686340164688. 4

Question Number : 72 Question Id : 68634041697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3¢ DYAGUHE, THHHHYTH A 3T 30 I HRUMH R K -
HHHYTH A : AU RIVIE@EIH fa=r: faerd|
®RUM R : HETHRA FAGHTaIdE: Iwi: f9erd|
STeSYTeaHIYd 34l guy APy JRITH It -

Y

1. AUGH R 340 A, Ud R, A 08 97 IReA] H|

2. AUGH R IYT AR, =] R, A SO ] ARedi A Brifd
3. A TOHE & R STAHRT
4. A T oo R IauiEd

Options :

686340164685. 1
686340164686. 2
686340164687. 3
686340164688. 4

Question Number : 73 Question Id : 68634041698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the saries of devisions of subject of Sushruta sambhita.

A. Sharirasthana
B. Sutrasthana
C. Kalpasthana
D. Nidanasthana
E. Chikitsarthana

Choose the correct answer from the options below:

1.B.A,C.DLE

[ )

.C,D,E.B,A
3.B, DA, B, C
4. A B.D.C.E

Options :

686340164689. 1
686340164690. 2
686340164691. 3
686340164692. 4

Question Number : 73 Question Id : 68634041698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gy FEeammEr: faugfayrT=i »H fd-

A TR

BI ii £
C. BRI

D. Fer=IMH
E. RiaruEg

S1ei Ry ety weiee S o -

1.B.A CDE

| ]

E, DL BB A
3:B.D,AB.C
4 AB.D CE

Options :

686340164689. 1
686340164690. 2
686340164691. 3
686340164692. 4



Question Number : 74 Question Id : 68634041699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the series of pramanas

A. Shabda

B. Arthapatti
C. Pratyaksha
D. Upamana
E. Anumana

Choose the correct answer from the options below:

1.D.AB.C.E
2B, C.EAD
J.C,DE,BA
4. C.EED.A.B

Options :

686340164693. 1

686340164694. 2

686340164695. 3
686340164696. 4

Question Number : 74 Question Id : 68634041699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qHTONH % o d-

A, Fleg:

B. 3ufaftr:
C. T&H
D. J9HFH

E. SIHH
o1l Y ety T S o -
1.D.A.B.C.E
22B.C.E.A.D
3¢ D.EBA
4 C.E.D.A.B
Options :
686340164693. 1

686340164694. 2
686340164695. 3



686340164696. 4

Question Number : 75 Question Id : 68634041700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the series of the chapters in Bhagavad-Gata.
A. Dhyana yoga
B. Karma voga
C. Sankhya yoga
D. Karma sannyasa yoga
E. Jnanakarma sannyas yoga

Choose the correct answer from the options below:

1.C,D.B.AE

| )

.C.B.E.D,A
3:B.C.DAE
4. A.B.D.E.C

Options :

686340164697. 1
686340164698. 2
686340164699. 3
686340164700. 4

Question Number : 75 Question Id : 68634041700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. SOHUNT:

B. HHANT:

C. ARENT:

D. FHIIMEA:

E. §H-H-GU9aT:

1ol Ey Faepedy T o e -

1.C,D.B.AE

| ]

.C.B,E.D.A
3B, G D ALE
LA B.D,EC

Options :



686340164697. 1
686340164698. 2
686340164699. 3
686340164700. 4

Question Number : 76 Question Id : 68634041701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the series of the yamas of yogangas -
A. Aparigraha
B. Brahmacharya
C. Asteya

D. Satya
E. Ahimsa

Choose the correct answer from the options below:

1.D.E.AC,B

[ ]

2. D.B.AE
3.3E.D,C. B, A
4. E.B.D.C.A

Options :

686340164701. 1
686340164702. 2
686340164703. 3
686340164704. 4

Question Number : 76 Question Id : 68634041701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT 2T 3 R

A ORYTE:
B. gy
C. 3ITH,
D. TH

E. ffga
3l ey ey wefte S R -
1.D.EACB
2.C.D.B.AE
33EED.C.,B.A
4. E.B.D.C.A

Options :

686340164701. 1
686340164702. 2
686340164703. 3
686340164704. 4

Question Number : 77 Question Id : 68634041702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the series of divisions of Shrautayaga

A. Soma

B. Pashu

C. Chaturmasyam
D. Agnihotra

E. Darshapurnamasa

Choose the correct answer from the options below:

LE.D B A.C

[ ]

ILAB CE
3:B.C.DAE
4. D.E.C.B.A

Options :

686340164705. 1
686340164706. 2
686340164707. 3
686340164708. 4



Question Number : 77 Question Id : 68634041702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A, T

B. O
C. IIgARTH

D. JHUEHH
E. GIYUIHT:
el 1Y fadedy FHEHH SR f=d -
1.E.D.B.A.C
2.D.A.B.C.E
3.B.C.D.A.E
4.D.E.C.B.A
Options :
686340164705. 1
686340164706. 2

686340164707. 3
686340164708. 4

Question Number : 78 Question Id : 68634041703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the series of seven swaras according to Gandharvaveda :
A. Shadja
B. Nishada
C. Gandhara

D. Madhyama
E. Rishabha

Choose the correct answer from the options below:
1.C,D.B.A.E
2.B. DB, CA
3. CABDLE
4. E.B.A.C.D
Options :

686340164709. 1
686340164710. 2



686340164711. 3
686340164712. 4

Question Number : 78 Question Id : 68634041703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRGAETTHR FEERI ohH -

A, ¥go:
B. Fure:
C. TRR:
D. HOH:
E. BYY:

3157 ey Fepedry Tl I e -
1.C.D.B.AE
2B.D.E,C.A
3.CAB.D.E
4. E.B.A.C.D

Options :

686340164709. 1
686340164710. 2
686340164711. 3
686340164712. 4

Question Number : 79 Question Id : 68634041704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the series of kandas of Ramayan :

A. AranyaKanda

B. SundarKanda

C. AyodhyaKanda
D. Kiskindha Kanda
E. BalaKanda

Choose the correct answer from the options below:

LEDCHBA

[ )

.C.D.B.A.E

i1 B L

4. E.C,A,D,B



Options :

686340164713. 1
686340164714. 2
686340164715. 3
686340164716. 4

Question Number : 79 Question Id : 68634041704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A HUOSHUSH

B. LeR@IUSH

C. 3IADBIISH
D. fefEnaneusy
E. STRIUSH,

1% aRy Frepedry Tl S e -

1LEDC B A

2.C.D.B.AE

3.EEB.D.A.C

4B CA DB
Options :
686340164713. 1
686340164714. 2

686340164715. 3
686340164716. 4

Question Number : 80 Question Id : 68634041705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : SJUMY is known as ' AR
Statement IT : 3-HIIHH 1s known as 3 g
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false

3. Statement I is true but Statement II is false

4. Statement [ is false but Statement II is true

Options :
686340164717. 1



686340164718. 2
686340164719. 3
686340164720. 4

Question Number : 80 Question Id : 68634041705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3¢ DY -
DYTHI : I Tea[TgR: KT
FYTH 11 : ST HUTAER: ST |
ST EIP YIRS 3Y: HaRidideedy Jaiagaddwr fHd-

1. Y 104 HYF 11 9 34T TH

2. BYA 14 HYA 11 I IHTH HTTH
3. DY 1 9 WR=] DY 1T HTTH
4. TYA 1 3 TR FUH I TIH

Options :

686340164717. 1
686340164718. 2
686340164719. 3
686340164720. 4

Question Number : 81 Question Id : 68634041706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Ayurveda 1s the upaveda of yajurveda.

Statement II : Sarpaveda is the upaveda of Atharvaveda.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement I are true

| )

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT is false

4, Statement [ is false but Statement II is true

Options :

686340164721. 1
686340164722. 2
686340164723. 3
686340164724. 4



Question Number : 81 Question Id : 68634041706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3¢ DY -
BY 1 : 3gde: Toldaagaalsi&]
FUT 11 : FUdS: AYTdGAIdals Il
STaP U Y T Rialde ey Jaragaadas -

1. PYTH 1 Ud HYFH 11 9 SHT TaH|

[ ]

B 1 Ud HYFH 11 9 SHTH ST

Lad

 BUA 1 G, TR DU 11 S|
4. TUF 1 ETH, TR HYFH 11 9|

Options :

686340164721. 1
686340164722. 2
686340164723. 3
686340164724. 4

Question Number : 82 Question Id : 68634041707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
= z ™
Statement - I : There is T390 in Ga—=<¢ |

Statement - II : There is STITH in YIFER: |

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement I are true

| )

. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4, Statement [ is false but Statement II is true

Options :

686340164725. 1
686340164726. 2
686340164727. 3
686340164728. 4

Question Number : 82 Question Id : 68634041707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -
BYTH I : G5 3fd Tq TWRAM: HfE|
DYTH 11 - 'YIFERE 5id Uq oo af: M|

i S i, . i

SUYFIYTgaEIEIh 3¢ HalRiafdeedy Jarqgaag fHgd-

1. ®YH 1Ud HYH 11 9 3HD I
2. BYH 1 Ud HYH 11 9 SHTH ATTH
3. BYA 1A R PUA 11 HITH
4. DY 1 T I DY 11 JIH

Options :

686340164725. 1
686340164726. 2
686340164727. 3
686340164728. 4

Question Number : 83 Question Id : 68634041708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement - I : Bharavi 1s the author of Malavikagnimitra drama.

Statement - IT : sﬁﬂa: HITAGTdT 1s in Anushasanaparva of Mahabharata

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement [ is false but Statement IT 1s true

Options :

686340164729. 1
686340164730. 2
686340164731. 3
686340164732. 4

Question Number : 83 Question Id : 68634041708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -
DY | : A AT e ™ WD R: YRid: )

HYH 11 : FEgUIag Tiar HeTHRARI SR faerd |

i S

SUYFIYTgaEIEIh 3¢ HalRiafdeedy Jarqgaag fHgd-

1. ®YH 1Ud HYH 11 9 3HD I
2. BYH 1 Ud HYH 11 9 SHTH ATTH
3. BYA 1A R PUA 11 HITH
4. DY 1 T I DY 11 JIH

Options :

686340164729. 1
686340164730. 2
686340164731. 3
686340164732. 4

Question Number : 84 Question Id : 68634041709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement - I : "I o is the example of 3 |
Statement - IT : YA S YgH' 1s YEIIMNALUTUD sutra in grammar.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement II are false

L¥¥]

. Statement I is true but Statement II is false

4, Statement I is false but Statement IT 1s true

Options :

686340164733. 1
686340164734. 2
686340164735. 3
686340164736. 4

Question Number : 84 Question Id : 68634041709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -

PYTH I : TIP(a: §id 3 AR SRIUHE |

HYTH 11 : ADHRUI UeHIIae g g Hafd Giers—i uaw |

SUYFIDYTRICID 31¢): Yafiafdeedy Jarageiy fHdd-
1. ®YH 1Ud HYH 11 9 3HD I

2. BYH 1 Ud HYH 11 9 SHTH ATTH
3. BYA 1A R PUA 11 HITH
4. BYA I A R FYUA 11 TIH

Options :

686340164733. 1
686340164734. 2
686340164735. 3
686340164736. 4

Question Number : 85 Question Id : 68634041710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement - I - TIITGRIFHETAT is the concept of Advaita philosophy.
Statement - IT : Bauddha accepts the existence of veda.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement [ is false but Statement IT is true

Options :

686340164737 1
686340164738. 2
686340164739. 3
686340164740. 4

Question Number : 85 Question Id : 68634041710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -
FU 1 - FrfaHTe S srgadaraw Rigr:|

BUTH I : Al 358 Tl Wi |

i S

SUYFIYTgaEIEIh 3¢ HalRiafdeedy Jarqgaag fHgd-

1. ®YH 1Ud HYH 11 9 3HD I
2. BYH 1 Ud HYH 11 9 SHTH ATTH
3. BYA 1A R PUA 11 HITH
4. DY 1 T I DY 11 JIH

Options :

686340164737. 1
686340164738. 2
686340164739. 3
686340164740. 4

Question Number : 86 Question Id : 68634041711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement - I : Vivartavada is famous in Jaina Philosophy.

Statement - IT : "SFTEHRU H HATHT 1s the Nyaya coneept.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement [ is false but Statement IT is true

Options :

686340164741. 1
686340164742. 2
686340164743. 3
686340164744. 4

Question Number : 86 Question Id : 68634041711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -
PUTH I : S faacare: TGS |

DYAH 11 : FHTYDHOMH ST Sfd ARG |

. i i, . i

SUYFIYTgaEIEIh 3¢ HalRiafdeedy Jarqgaag fHgd-

1. ®YH 1Ud HYH 11 9 3HD I
2. BYH 1 Ud HYH 11 9 SHTH ATTH
3. BYA 1A R PUA 11 HITH
4. DY 1 T I DY 11 JIH

Options :

686340164741. 1
686340164742. 2
686340164743. 3
686340164744. 4

Question Number : 87 Question Id : 68634041712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

These are known as U3l -

A. Uktha

B. Devata

C. Havirdravya
D. Mantra

E. Pashubandha

Choose the correct answer from the option given below :

1. A. B. C Ouly

| )

.B.C.D Only
3.C,D. E Only

4.B.D. E Only

Options :

686340164745. 1
686340164746. 2
686340164747. 3
686340164748. 4

Question Number : 87 Question Id : 68634041712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A TR
B. gadl
c. glagoay

D. Hd:
E. UR[a=:
3¢l gy fdepeuy iy I fd -
1. HaaH A, B.C
2. HAaHB.C.D
3. $daH C, D, E

4. %A B. D, E

Options :

686340164745. 1
686340164746. 2
686340164747. 3
686340164748. 4

Question Number : 88 Question Id : 68634041713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There are kmown as 3 gaafﬁ' =

A. Koulavyatantram

B. Shaktatantram

C. Shalyatantram

D. Bhutavidyatantram

E. Koumarabhrityatantram

Choose the correct answer from the option given below :

1. A B. C Ounly

| B

.B.D., E Only
3.C,D. E Only

4. A, B.E Only

Options :

686340164749. 1
686340164750. 2
686340164751. 3
686340164752. 4



Question Number : 88 Question Id : 68634041713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty RO

A Bldoad-dy
B. SMEId-aY]
C. Tregday

D. Ydfaed«H
E. SHRYITAH

el gy faebety FHIET IR = -
1. HAH A. B, C

A B.D.E

.$deH C.D.E

4. PAAH A.B.E

[ )

%]

Options :

686340164749. 1
686340164750. 2
686340164751. 3
686340164752. 4

Question Number : 89 Question Id : 68634041714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

These Acharyas are known in Mimansa Philosophy-

A. Kumarilabhatta
B. Prabhakara Mishra
C. Pakshadhar Mishra
D. Murari Mishra
E. Shankar Mishra
Choose the correct answer from the option given below :
1. A. B. D Ounly
2. A.B. C Ounly
3.C.B.D Only

4. C,D, E Only

Options :
686340164753. 1



686340164754. 2
686340164755. 3
686340164756. 4

Question Number : 89 Question Id : 68634041714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T - TRy ufeTiord: St -

A. PORAYE:
B. UHTHIHY:
C. U&feRMY:
D. RIREY:
E. UgImy:

e iy faeedy FHiH 3R fod -
1. Hdaq A.B.D
2. BAUH A, B, C
3. $daH C.B.D
4, BAA C, D. E

Options :

686340164753. 1
686340164754 2
686340164755. 3
686340164756. 4

Question Number : 90 Question Id : 68634041715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



These are known as the purposes of grammar -

A, Raksha
B. Vansha

C. Uha
D. Sanshaya
E. Aagama

Choose the correct answer from the option given below :

1. A. B. D Ounly

[ )

.B.D. E Only

LF%]

.A. C.D Only
4. A C.E Only

Options :

686340164757. 1
686340164758. 2
686340164759. 3
686340164760. 4

Question Number : 90 Question Id : 68634041715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OISy R -
AL TET
B. 9g:
C. e
D. HY[T:
E. 3H[TH:

3l gy fapeuy FHi=g I < -
1.HdaH A, B.D
2. PAIHB. D, E
3. Pda A, C.D
4. HAAHA, C.E

Options :

686340164757. 1
686340164758. 2
686340164759. 3
686340164760. 4



Question Number : 91 Question Id : 68634041716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

These are known as Pudgalas -

A. Shabda
B. Sparsha
C. Rasa
D. Sneha
E. Gandha

Choose the correct answer from the option given below :
1. B, C. E Only
2. A.B. C Only
3.C.D. E Only

4. A.B.D Ounly

Options :

686340164761. 1
686340164762. 2
686340164763. 3
686340164764. 4

Question Number : 91 Question Id : 68634041716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Iy R0 -

A Te8:
B. W
C. T
D. 6§

E. T:
3¢l ey fdp ey i g o -
1.4 B, C. E
2. PAA A, B, C
3. PAAHC. D.E
4. HaaHA,B.D

Options :
686340164761. 1
686340164762. 2



686340164763. 3
686340164764. 4

Question Number : 92 Question Id : 68634041717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

These are the 'S{W‘ =

A. Duhkhapragbhava
B. Duhkha

C. Duhkhadhvamsa
D. Duhkhasamudaya
E. Duhkhanirodha

Choose the correct answer from the option given below :

1. A. B. C Oaly

[ )

.C, D, E Only
3.B,D. E Only
4. B, C.D Only

Options :

686340164765. 1
686340164766. 2
686340164767. 3
686340164768. 4

Question Number : 92 Question Id : 68634041717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EICREL RIS
A, GEURTHTG:
B. §@H
C. TG
D. §EHHI:
E. §@-RIY:
el g0y fdp ey FHIHH 9w fKgd -
1. HAAH A B, C
. $deH C.D.E
.%aeH B.D.E

4. $ddH B.C. D

[ B

L]

Options :

686340164765. 1
686340164766. 2
686340164767. 3
686340164768. 4

Question Number : 93 Question Id : 68634041718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

These are known as Usq[eTF -

A, Anuprasa
B. Yamaka
C. Upama
D. Shlesha
E. Rupaka

Choose the correct answer from the option given below :

1. A. B. C Ouly

[ ]

.A.B.D Only
3.C,D. E Only
4.B. D, E Only

Options :

686340164769. 1
686340164770. 2
686340164771. 3
686340164772. 4



Question Number : 93 Question Id : 68634041718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
REANEIRE R RS
A, ST
B. JA&H
C. 3GHI
D. Q@Iﬂ:
E. F=U5H
el gy fdepedy FHi=i=g I foa -
1. HAAH A, B. C
2. HATH A, B.D
3. ®daf C, D, E

4. %deH B. D, E

Options :

686340164769. 1
686340164770. 2
686340164771. 3
686340164772. 4

Question Number : 94 Question Id : 68634041719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LIST II
Rigveda 1. |[Kauthumiva Shakha
Yajurveda II. [Shaunaka Shakha
Samaveda II1. |Shakala Shakha
Atharvaveda | IV [Kanva Shakha

EEE

Choose the correct answer trom the options given below:

1. A-III, B-IV. C-II. D-I

| ]

AL B-IV. C-1. D-IT
3. A-IV. B-I1I, C-III, D-1
4. A-I1, B-1II, C-1. D-IV
Options :

686340164773. 1
686340164774. 2



686340164775. 3
686340164776. 4

Question Number : 94 Question Id : 68634041719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yo i IRER i de $od -
T 1 g 1
A T 1 [@rysmEmE
B. [rode: 1. [RiteherE
C. [Hdg: M1 [RITch d=IRaT
D. [siydde: 1V, [@1va=iran

3l gy [dehedy FHiH g fd -

1. A-IIIL, B-IV. C-II. D-I

| ]

AL B-IV. C-1. D-IT
3. A-IV. B-II, C-III. D-I
4. A-IIL, B-I11., C-1. D-IV

Options :

686340164773. 1
686340164774. 2
686340164775. 3
686340164776. 4

Question Number : 95 Question Id : 68634041720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
A |Shatasahasri Samhita I |Chhanda
B. [Chaturvimsatisahasri Samhital II. [Ramavan
C. |Pratisarga 1I1. pMahabharata
D. |Sragdhara IV [Purana

Choose the correct answer trom the options given below:

1. A-IIL, B-II, C-IV, D-I

| ]

. A-IT, B-IILL, C-1. D-IV
3. A-III, B-IV. C-I, D-II
4. A-IV. B-1. C-I1, D-III

Options :



686340164777. 1
686340164778. 2
686340164779. 3
686340164780. 4

Question Number : 95 Question Id : 68634041720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gAlgaHa g e d B $d -

T I T 11
A [REagred! gigd 1 [e=:
B. [agidwriaars s igal 1L ke
C. [afaet: 1L [AgTHRGH
D. [&ERT 1V [Rom

3157 ey Fepedry Tl I e -

1. A-TII, B-II. C-IV. D-I

| ]

. A-IL B-IIL C-1. D-IV
3. A-IIT, B-IV. C-1. D-II
4. A-IV. B-1, C-II. D-III

Options :

686340164777. 1
686340164778. 2
686340164779. 3
686340164780. 4

Question Number : 96 Question Id : 68634041721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
[Kumarasambhaval [ [Vishwanath
Shishupalavadha | II. [Dandin
Sahitvadarpana | 111 [Kalidas
[Kavyvadarsha IV. IMagha

T REE

Choose the correct answer trom the options given below:
1. A-III, B-I. C-IV. D-II
2. A-IV. B-II. C-III, D-I
3. A-IL B-III. C-L. D-IV
4. A-III, B-IV. C-1, D-II

Options :

686340164781. 1
686340164782 2
686340164783. 3
686340164784. 4

Question Number : 96 Question Id : 68634041721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yo i IRER i de $od -
T 1 g 1
A [FARTRGH 8l EERICE
B. [RrErayq I [gust
C. [Argdeuur: 111 [BIieiare:
D. [@ToreRr: V. [T

3l gy [dehedy FHiH g fd -

1. A-IIL, B-L, C-IV. D-I
2. A-IV, B-I1, C-III, D-I
3. A-II, B-IIL, C-I, D-IV
4. A-TIT, B-IV, C-1, D-II

Options :

686340164781. 1

686340164782, 2

686340164783. 3
686340164784. 4



Question Number : 97 Question Id : 68634041722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Astadhvayes I. |Patanjali
B. [Siddhanta Kaumudi II. [Panim
C. |Laghusiddhanta Kaumudi| II1. [Bhattoji Dikshital
D. Mahabhashvam IV |Varadaraja

Choose the correct answer from the options given below:

1. A-IV. B-II, C-III. D-1

| )

AT, B-1, C-II. D-IV
3. A-IL B-III. C-IV. D-I
4, A-II, B-IV, C-1, D-III

Options :

686340164785. 1
686340164786. 2
686340164787. 3
686340164788. 4

Question Number : 97 Question Id : 68634041722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gAlgaHa g e d B $d -

T I T 11
A |HPTERL 1 [gd@fen:
B. [ggoal 11 [grforf:
C. [TaEaeHd] il THIERIEGE
D. [AgmIH IV, [aaxrer

3157 ey Fepedry Tl I e -

1. A-IV. B-II. C-III. D-I

| ]

AL B-1. C-I1. D-IV
3. A-IIL, B-III, C-IV. D-I
4. A-IL. B-IV. C-1, D-III

Options :

686340164785. 1

686340164786. 2
686340164787. 3



686340164788. 4

Question Number : 98 Question Id : 68634041723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
A |Kalpa I. |Pada
B. |[Chhanda II. [Hasta
C. |Shiksha I1I. |Shrotra
D. Nirukta IV, |Ghrana

Choose the correct answer trom the options given below:

1. A-II. B-1. C-IV, D-III

| ]

CA-L B-IL C-IV, D-III
3. A-IL B-IV. C-III, D-I
4. A-IV, B-11I. C-I, D-II

Options :

686340164789. 1
686340164790. 2
686340164791. 3
686340164792. 4

Question Number : 98 Question Id : 68634041723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Felgaa i RER i He $od -
T 1 g 1
A @A I. [UlG:
B [&: II Jg:
C. [Rran il CEE
D. [F%dH IV. [

3¢l ey [dep ey gl g f&d -

1. A-II. B-I. C-IV. D-III

| ]

cA-LB-IL C-IV, D-IIT
3. A-IL B-IV. C-III. D-I
4. A-IV, B-IIL. C-1. D-II

Options :
686340164789. 1



686340164790. 2
686340164791. 3
686340164792. 4

Question Number : 99 Question Id : 68634041724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Agadatantra I. [Nyavanga
B. [Pranayama II. [Vedanga
C. |Vvakaran II1. [Yoganga
D. [Nigamana IV, |Avurvedanga

Choose the correct answer from the options given below:

1. A-IV. B-II, C-III. D-1

| )

AT, B-1, C-II. D-IV
3. A-IV. B-IIL. C-I1. D-I
4, A-II, B-IV, C-1, D-III

Options :

686340164793. 1
686340164794. 2
686340164795. 3
686340164796. 4

Question Number : 99 Question Id : 68634041724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gAlgaHa g e d B $d -

T I Tt I
A |3Tedaq L [mEEd
B. [HTOTgTH: II [daT5d
C. [oara3uy 1L fTgH
D. [ IV, [mgaars

3157 ey Fepedry Tl I e -

1. A-IV. B-II. C-III. D-1

| ]

AL B-1. C-I1. D-IV

3. A-IV. B-IIL. C-I1. D-I

4. A-IL. B-IV. C-1, D-III



Options :

686340164793. 1
686340164794. 2
686340164795. 3
686340164796. 4

Question Number : 100 Question Id : 68634041725 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Vivartavada I [aina
[ndrivatmavadal II. |Advaitavedanti
Anckantavada | III. [Charvaka
lAnatmavada IV. [Bauddha

T REE

Choose the correct answer trom the options given below:

1. A-IV, B-1, C-III, D-II

| ]

AL B-ITL, C-IV, D-I
3. A-IL B-I. C-IV, D-III
4. A-I1, B-1II, C-1. D-IV

Options :

686340164797. 1
686340164798. 2
686340164799. 3
686340164800. 4

Question Number : 100 Question Id : 68634041725 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Jegaa i RER = He $od -

T 1 g 1
A [faqddre: I [o:
B. l=ded: I [3fgedart
C. s 111. [Eraie:
D. |3HTHAIG: v [dis:
el ey [dp ey FHERH I ford -

1. A-IV. B-1. C-II1. D-II
2. A-IILL B-I1. C-IV. D-1
3. A-IL B-I. C-IV. D-III
4. A-IL. B-III. C-I. D-IV
Options :
686340164797. 1
686340164798. 2

686340164799. 3
686340164800. 4



